Public Interest Response to Issue List from 5 March Renewables Subgroup
March 17, 2004

1. Should renewable resource goals and budgets be separate from conservation?

a. BPA Transmission Business Line can support some renewable resource activities but may not be able to support conservation activities. So it may be advisable to segregate the two.

Response - Yes, there should be separate targets for conservation and renewables, but we would consider some limited amount of flexibility.  We disagree with the statement that TBL cannot support conservation.  Non-wires alternatives are being supported by TBL, and that support should continue when it is the least-costly alternative for transmission needs. 

2. How much of C&RD credit went to above market cost of renewable resources? (Question is not answerable because only the credit is known, not the cost)

3. Where are the costs of purchased renewables in BPA rates?

4. Which renewable resource activities are best suited to BPA action and funding?

Response – BPA should use its expertise and system to help encourage the development of renewable resources in the region.  That may take the form of RD&D, integration and shaping, transmission, education, green marketing, partnering and facilitation of utility efforts, acquisition, and backstop for utility acquisition.

5. Should there be acquisition targets?

a. If so, who decides, how are the targets set, and how are they implemented? 
Response - The overall goal is that the region's long-term system needs, including replacement resources, will be met entirely with cost-effective energy efficiency and new renewables.  The Council will set the regional 20-year renewable target based on that goal using its determination of the amount of achievable cost-effective conservation.  Every five years, the Council will project loads over the following twenty years.  Depending on the outcome of this assessment, the renewables goal and dollar cap amount can be adjusted up to ten percent from the baseline.  

The annual regional target will be one-twentieth of the total, beginning in 2005, and split into BPA (including loads of partial requirements customers and IOU Exchange loads) and IOU targets.  (We suggest five-year cumulative targets with some minimum annual amount required.)  The BPA target will be further divided 50-50 into a BPA (centralized) target and individual utility targets.  These aMW targets will be translated, using an average above-market cost estimate, to a total dollar figure for each.  Both the aMW and dollar figures will be established, divided proportionately by total utility load. 

If a utility's aMW target can be achieved for less than the stated investment level, the obligation will be considered met.  If the aMW target cannot be achieved within the required investment level, then the dollar/MW amount would act as a cap on utility spending obligation.  
b. Is there a backstop, if so how does it work and who pays?

Response - Bonneville is the backstop for its customers.  We would propose a renewables credit account mechanism ($/kwhr) as in the present C&RD program, whereby unmet credits are collected from utilities at the end of each five years.  BPA would first offer this money to other utilities, but if not successful would acquire the resources on its own.  For partial requirements customers, the credit would be proportional to the customers' load on BPA.  For example, assume a BPA customer with total load of 100 MWs received half its power from BPA, and that its renewable target, based on its entire load was 2 aMWs per year.  Its C&R discount would only be calculated on the 50 MWs it buys from Bonneville, and the customer would get 50% of the credit (as compared to a full-requirements customer) for each aMW acquired.  For IOUs the credit would cover the kwh equivalent of any monetary benefit.

6. What renewable RD&D activities are needed?

a. Which renewable RD&D activities are appropriate for Bonneville and how should they be funded?

Response - RD&D includes demonstration projects that are not currently commercially viable, such as small-scale bio-mass, solar, and new, untested technologies, wind speed monitoring, etc.  Funding should come from base rates paid by all customers (e.g., tier 1 --[note:  by "tier 1" we mean the base allocation, whatever form that might take]).

7. What system integration and renewables support activities are needed?

a. Which are appropriate for BPA, how are they funded, who decides?

Response - Integration and shaping, and transmission improvements are presently hurdles for renewable development.  Their costs are not completely defined (yet).  Some level of general support should come from base rates paid by all customers (e.g., tier 1) to identify and create products and services to facilitate utility acquisitions.  

8. Should BPA be an aggregator of new renewables for those who choose so. If so, how should BPA segregate those costs and benefits?

Response - Yes.  Ultimately, almost all of the costs would be paid by participants.  However, there is an important role for BPA to initiate larger "partnered" projects that allow economies of scale, that are then sold in smaller amounts to utilities.  This means BPA takes on some risk, and may have to purchase some power itself (in tier 1) until the entire project is sold.  This is a valuable service, but a limit on how much risk BPA can take on is appropriate.   
9. What transmission-related renewables activities are appropriate for pooled BPA funding?

a. Example (Extension of transmission to wind generating areas)

Response - There is a "chicken and egg" problem now limiting many cost-effective renewables projects.  Without transmission a developer cannot get a power contract, and without a power contract a developer cannot get financing for the project, including new transmission.  BPA should play a role in bringing buyers and developers together that may entail some upfront financing for transmission upgrades or non-wires solutions.  Ultimately, all those costs should be paid by the participants, but BPA may have to take on some risk that is appropriately paid for through pooled funding (tier 1).

Add Issues from Conservation Group:

1) What should be the treatment of renewables acquisitions under tiered rates or an allocation of the system?

a) How should renewable acquisitions be accounted for?

Response - Bonneville's costs of its share (centralized programs, RD&D, etc.) should be in Tier 1.  C&RD credits should be based on Tier 1 allocations.

b) Do acquisitions decrement an allocation? If so how?

Response - Acquisitions do not decrement tier 1.  If an acquisition causes a utility to lose some of its tier 1 allocation due to net requirement problems, the displaced tier 1 amount would be declared as surplus, so that the utility, or BPA on its behalf, could sell it on the market .

c) How to avoid penalizing utilities for strong renewables performance?

Response - After allocation, see answer above.  Before allocation, during the uncertain time between BPA's policy ROD and later allocation or tiered rate, Bonneville's policy should protect customers by stating that any future allocation or tiering should be based on utility loads as of the date of the final policy ROD (expected before the end of '04).  This removes a disincentive to acquire renewables in the interim period  
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